

(4a) To show: If $p \leq q$ then $\ell^p \subseteq \ell^q$.

Assume $p \leq q$.

To show: $\ell^p \subseteq \ell^q$

To show: If $x = (x_1, x_2, \dots) \in \ell^p$ then $x \in \ell^q$.

Assume $x = (x_1, x_2, \dots) \in \ell^p$.

Then $\sum_{i=1}^{\infty} |x_i|^p < \infty$.

There exists $N \in \mathbb{Z}_{>0}$ such that
if $n \in \mathbb{Z}_{>N}$ then $|x_n| < 1$.

Since $p \leq q$ and $|x_n| < 1$ then

$$|x_n|^p \geq |x_n|^q$$

To show: $x = (x_1, x_2, \dots) \in \ell^q$.

To show: $\sum_{i=1}^{\infty} |x_i|^q < \infty$.

$$\begin{aligned} \sum_{i=1}^{\infty} |x_i|^q &= \sum_{i=1}^N |x_i|^q + \sum_{i=N+1}^{\infty} |x_i|^q \\ &\leq \left(\sum_{i=1}^N |x_i|^q \right) + \sum_{i=N+1}^{\infty} |x_i|^p < \infty. \end{aligned}$$

$\therefore x = (x_1, x_2, \dots) \in \ell^q$

$\therefore \ell^p \subseteq \ell^q$.

(4b) To show: If $p \neq q$ then $\ell^p \neq \ell^q$.

Assume $p \neq q$ and $p < q$.

We know $\ell^p \subseteq \ell^q$.

To show: There exists $y = (y_1, y_2, \dots) \in \ell^q$ such that $y \notin \ell^p$.

$$\text{Let } y = \left(\left(\frac{1}{1}\right)^{1/p}, \left(\frac{1}{2}\right)^{1/p}, \left(\frac{1}{3}\right)^{1/p}, \dots \right)$$

To show: $y \in \ell^q$ and $y \notin \ell^p$.

$$\text{To show: (a) } \sum_{n=1}^{\infty} \left(\frac{1}{n}\right)^{q/p} < \infty$$

$$\text{(b) } \sum_{n=1}^{\infty} \left(\frac{1}{n}\right)^{p/p} \Leftarrow \text{diverges}$$

$$\text{(b) } \sum_{n=1}^{\infty} \left(\frac{1}{n}\right)^{p/p} = \frac{1}{1} + \frac{1}{2} + \underbrace{\frac{1}{3} + \frac{1}{4}}_{\frac{1}{2}} + \underbrace{\frac{1}{5} + \frac{1}{6} + \frac{1}{7} + \frac{1}{8}}_{\frac{1}{2}} + \dots$$

$$\Rightarrow 1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{4} + \frac{1}{8} + \frac{1}{8} + \frac{1}{8} + \frac{1}{8} + \dots$$

$$= 1 + \frac{1}{2} + \frac{1}{2} + \frac{1}{2} + \dots = \infty$$

$$\therefore \sum_{n=1}^{\infty} \left(\frac{1}{n}\right)^{p/p} \text{ diverges.}$$

$$\therefore y \notin \ell^p.$$

(ba) To show: $\sum_{n=1}^{\infty} \left(\frac{1}{n}\right)^{2/p}$ converges. Metric & Hilbert Assl (4) (b) (3)

$$\sum_{n=1}^{\infty} \left(\frac{1}{n}\right)^{2/p} = 1 + \left(\frac{1}{2^{2/p}} + \frac{1}{3^{2/p}}\right) + \left(\frac{1}{4^{2/p}} + \frac{1}{5^{2/p}} + \frac{1}{6^{2/p}} + \frac{1}{7^{2/p}}\right) + \dots$$

$$< 1 + \frac{2}{2^{2/p}} + \frac{4}{4^{2/p}} + \dots$$

$$= 1 + \frac{1}{2^{2/p-1}} + \frac{1}{4^{2/p-1}} + \frac{1}{8^{2/p-1}} + \dots$$

$$= 1 + \frac{1}{2^{2/p-1}} + \left(\frac{1}{2^{2/p-1}}\right)^2 + \left(\frac{1}{2^{2/p-1}}\right)^3 + \dots$$

$$= \frac{1}{1 - \frac{1}{2^{2/p-1}}} = \frac{2^{2/p-1}}{2^{2/p-1} - 1}$$

$$\therefore \sum_{n=1}^{\infty} \left(\frac{1}{n}\right)^{2/p} \text{ converges.}$$

$$\therefore y = \left(\frac{1}{1^{1/p}}, \frac{1}{2^{1/p}}, \frac{1}{3^{1/p}}, \dots\right) \in \ell^2.$$

$$\therefore \ell^2 \neq \ell^p //$$